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Phys 131
Fall 2024

Fundamental Mechanics: Group Exercise 8
13 November 2024

Names:

1 Beam perpendicular to a wall Wall

A 4.0m long, 80 kg beam is anchored to a wall and held at rest
horizontally by a rope at the illustrated angle. The thickness
of the beam is negligible. A 10kg box rests on the beam at 40°
the illustrated point. Determine the tension in the rope in the
illustrated situation, using the conditions for equilibrium. Will a
rope with breaking strength 650 N manage to support the beam
in this situation? o
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